AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicab	le box) E DERAL CAI	NDIDATE	STAT	E/LOCAL CA	NDIDATE
1				arge During / Certification (
	d Location:	ange, Gr	1	Date:	9/24
I, <u>Jan</u>	V -				
a legaliv gua	lified candidat	e of the <u>P</u>	publica County	n Sheriff's	5 OFFICE
in the <u>N</u>	MOM				
	quest station t				
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
Attach propo	sed schedule	with charges (if available):		7

I represent that the payment for the above described broadcast time has been furnished
James Woodwif for Sheriff
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.
The name of the treasurer of the candidate's authorized committee is:
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
To Be Signed By Candidate or Authorized Committee
4-16-24
Date Signature To Be Signed By Station Representative
☐ Accepted ☐ Accepted in Part ☐ Rejected
Signature Shelby Workly Traffic Manager Title

EAGLE'S NEST, INC WELR-AM / WELR-FM / WLAG-AM / 96.9 FM CORPORATE OFFICE 334.863.4139 304 East Broome Street Lagrange, GA 30240 USA

Order #:

2094-00007

Description:

2024 Election Added Spots

Date Entered:

4/25/2024

P.O.#:

Salesperson: Steve, Smoot

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date Notary Req'd

JAMES WOODRUFF FOR TROUP CO SHERIFF ATTN: JAMES WOODRUFF 852 STEWART RD LAGRANGE, GA 30241

On-A	۱ir ۱	Sch	ied	lui	le

	Start Date	End Date Station	Scheduled Time/Event	Repeated	Length	Oty	Rate	Total	λ/	Tu	W	TL	Е	C-	C
1	4/30/2024	5/21/2024 WELR-FM	06:00:00 to 09:00:00	CUSTOM	:30	22			M			Th	<u>F</u>	<u>Sa</u>	<u>Su</u>
	4/30/2024	5/5/2024	00.00.00 10 03.00.00	COSTOW	:30		25.00	550.00	Υ	Υ	Υ	N	Υ	N	N
	5/6/2024	5/12/2024				6	25.00	150.00	0	2	2	0	2	0	0
	5/13/2024	5/19/2024				6	25.00	150.00	2	0	2	0	2	0	0
	5/20/2024	5/21/2024				6	25.00	150.00	2	0	2	0	2	0	0
•						4	25.00	100.00	2	2	0	0	0	0	0
2		5/21/2024 WLAG/96	06:00:00 to 09:00:00	CUSTOM	:30	22	0.00	0.00	Υ	Υ	Υ	N	Υ	N	N
	4/30/2024	5/5/2024				6	0.00	0.00	0	2	2	0	2	0	0
	5/6/2024	5/12/2024				6	0.00	0.00	2	0	2	0	2	0	0
	5/13/2024	5/19/2024				6	0.00	0.00	2	0	2	0	2	0	0
	5/20/2024	5/21/2024				4	0.00	0.00	2	2	0	0	0	0	0
3	4/30/2024	5/21/2024 WLWE-AM	06:00:00 to 09:00:00	CUSTOM	:30	22	0.00	0.00	Υ	Υ	Υ	N	Υ	N	N
	4/30/2024	5/5/2024				6	0.00	0.00	0	2	2	0	2	0	0
	5/6/2024	5/12/2024				6	0.00	0.00	2	0	2	o	2	0	0
	5/13/2024	5/19/2024				6	0.00	0.00	2	0	2	0	2	o	0
	5/20/2024	5/21/2024				4	0.00	0.00	2	2	0	0	0	0	0
4	4/30/2024	5/21/2024 WELR-FM	10:00:00 to 18:00:00	CUSTOM	:30	28	16.00	448.00	Υ	Υ	Υ	N	Υ	N	N
	4/30/2024	5/5/2024				6	16.00	96.00	0	2	2	0	2	0	0
	5/6/2024	5/12/2024				7	16.00	112.00	2	0	2	0	3	0	0
	5/13/2024	5/19/2024				9	16.00	144.00	3	0	3	0	3	0	0
	5/20/2024	5/21/2024	*			6	16.00	96.00	3	3	0	0	0	0	0
5	4/30/2024	5/21/2024 WLAG/96	10:00:00 to 18:00:00	CUSTOM	:30	28	0.00	0.00	Υ	Υ	Υ	N	Υ	N	N
	4/30/2024	5/5/2024				6	0.00	0.00	0	2	2	0	2	0	0
	5/6/2024	5/12/2024				7	0.00	0.00	2	0	2	0	3	0	0
	5/13/2024 5/20/2024	5/19/2024				9	0.00	0.00	3	0	3	0	3	0	0
		5/21/2024				6	0.00	0.00	3	3	0	0	0	0	0
6	4/30/2024	5/21/2024 WLWE-AM	10:00:00 to 18:00:00	CUSTOM	:30	28	0.00	0.00	Υ	Υ	Υ	N	Υ	N	N
	4/30/2024	5/5/2024				6	0.00	0.00	0	2	2	0	2	0	0
	5/6/2024	5/12/2024				7	0.00	0.00	2	0	2	0	3	0	0
	5/13/2024	5/19/2024				9	0.00	0.00	3	0	3	0	3	0	0
	5/20/2024	5/21/2024				6	0.00	0.00	3	3	0	0	0	0	0

Order Start Date: 4/30/2024

Order End Date: 5/21/2024

Spots: 150

Total Charges:

\$998.00

Projected Calendar Month/End-Of-Schedule Billing Totals for JAMES WOODRUFF FOR TROUP CO SHERIFF / 2094-000	07:
--	-----

Total:		150	\$998.00	
April May	2024 2024	<u>Spot Count</u> 12 138	<u>Net Billing</u> \$82.00 \$916.00	

All Stations Sales Order (WELR-FM WLWE-AM & FM WLAG-AM & FM)

	Salesperson:	erson:		COOP:										
Frim A Shreiff	Frim Address: Shreiff James \	Frim Address : Shreiff James Woodruff		Special Instructions:	*:									
				Program Sponsor:										
Cart #	Cart # Length	Begin Date	End Date	Time Period	<		≶			S	S	Rate	H	Extension
													\$	-
												\$	↔	٠.
												٠	s	-
	30	4/29/2024	5/5/2024	6am-9am	2		2		N			\$ 25.00	\$	150.00
	30	5/6/2024	5/12/2024	6am-9am	2		2		2			\$ 25.00	\$	
	30	5/13/2024	5/19/2024	6am-9am	2		2		2			\$ 25.00	\$	
	8	5/20/2024	5/21/2024	6am-9am	2	2		_				\$ 25.00	\$	100.00
												()	€9	1
									_	_	_	69	69	1
	30								_	_		⇔ -	↔	1
	30	4/29/2024	5/5/2024	10am-6pm	2		2		2			\$ 16.00	\$	96.00
	8	5/6/2024	5/12/2024	10am-6pm	2		2		ω			\$ 16.00	\$	112.00
	8	5/13/2024	5/19/2024	10am-6pm	ω		ယ		ω			\$ 16.00	\$	144.00
	30	5/20/2024	5/21/2024	10am-6pm	ω	ω				_	_	\$ 16.00	\$	
											_	Net	69	998.00
) 227	7										The second secon		

^{1.} WLAG/WELR is not responsible for failure of broadcasting of programs due to breakdowns

advertising contracts the basis of race or ethnicity. Any provision in any agreement entered into with an advertiser whose internt is to discriminate in such manner shall be null and void. In compliance with FCC rules, broadcaster includes this nondiscrimination provision in all written FCC Nondriscrimination Policy: Neither this agreement nor any party to this agreement discriminates in the sale of advertising time on

Contract Approved by:

or any other reason beyond control of said station.

2. The signing of this agreement constitutes an order, which cannot be countermanded without written consent. No verbal agreements are recognized, and all stipulations must be embodied.